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QUESTION 1

Given:

You were previously on-site at ABC\\'s facility to conduct a pre-deployment RF site survey. The WLAN has
been deployed according to your recommendations and you are on-site again to perform a network
validation.

When performing this type of post-deployment RF site survey for VoWiFi, what are two steps that must be
performed? (Choose two)

A. Coverage analysis to verify appropriate coverage and roaming boundaries

B. Spectrum analysis to locate and identify RF interference sources

C. Hidden node analysis to identify and relocate existing hidden nodes

D. Protocol analysis to discover channel use on neighboring APs

E. Application analysis with an active phone call on a VoWiFi handset

Correct Answer: AE

QUESTION 2

What WLAN system feature is required to produce a scenario with the following configuration on a single access point?
(Choose 2)

1.

SSID = Guest / BSSID = AA:AA:AAAAAAAA

VLAN = 22 / Subnet = 192.168.22.0 / RF Channel = 6

2.

SSID = Corporate / BSSID = BB:BB:BB:BB:BB:BB /

VLAN =33/ Subnet = 192.168.33.0 / RF Channel = 6 / User Type A
3.

SSID = Corporate / BSSID = BB:BB:BB:BB:BB:BB /

VLAN =44/ Subnet = 192.168.44.0 / RF Channel = 6 / User Type B
A. Multiple WLAN Profiles

B. Call Admission Control
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C. Virtual Cell with SCA

D. Access Categories

E. User-based authentication
F. Dual-radio AP hardware
G. Integrated DHCP server

Correct Answer: AE

QUESTION 3

What term correctly completes the following sentence?

In an IEEE 802.11 frame, the IP packet is considered by the MAC layer to be a(n)
A. MAC Service Data Unit (MSDU)

B. MAC Protocol Data Unit (MPDU)

C. Bridge Protocol Data Unit (BPDU)

D. PLCP Service Data Unit (PSDU)

E. PLCP Protocol Data Unit (PPDU)

Correct Answer: A

QUESTION 4
In an infrastructure Basic Service Set (BSS), how does the passive scanning process occur?

A. Access points broadcast Beacons on all channels of each radio within the regulatory domain. Nearby client stations
record information found in the Beacons for use in the association process.

B. Client stations broadcast Probe Request frames on all supported channels in the regulatory domain. Nearby access
points respond with Probe Response frames. Client stations record information in the Probe Response frames for use in
the association process.

C. Client stations broadcast Probe Request frames on the single channel for which they are programmed. Nearby
access points respond on that channel with Probe Response frames. Clientstations record information found in the
Probe Response frames for use in the association process.

D. Access points broadcast Beacons on a single channel for which it is programmed. Nearby client stations listen for
Beacon frames and record information found in the Beacons for use in the association process.

Correct Answer: D

QUESTION 5
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The IEEE 802.11a/n physical layer technologies utilize the 5 GHz frequency band. What is true of the two lower bands
(UNII-1 and UNII-2) in this frequency spectrum? (Choose two)

A. The frequency range of these bands is 5000 MHz - 5200 MHz

B. Each of these two bands contain five 20 MHz channels.

C. Regulatory domains worldwide require DFS and TPC in these bands.
D. These bands have a total combined bandwidth of 200 MHz.

E. 20 MHz in each of these bands is reserved as a guard band.

Correct Answer: DE
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